Leonard Alexander Cup — Seavington St. Michael v Seavington St. Mary 4" July 1992

Innings of Seavington St. Mary

Batsman How Out Bowler Score
1. C. Male Bowled A. Smith 29

2. M. Harrison Bowled D. Retter 0

3. B. Edwards Bowled M. James 0

4. M. Tolman Not Out 64
5.S. Madge Caught S. Gillard A. Smith 12

6. A. Bird Run Out 2

7. M. George Run Out

8. E. Gillard Not Out 0

9. A.Gillard

10. C. Bird

11. A. Payne

Extras (9 Wides) 9
Total 117 for 6 wickets (18 overs)

Fall of Wickets
9 -1 (M. Harrison), 14 — 2 (B. Edwards), 46 — 3 (C. Male), 95 — 4 (S. Madge), 102 -5 (A. Bird), 117 — 6 (M. George)

Bowling Analysis

Bowler Overs Maidens Runs Wickets

1.S. Ash 2 0 8 0

2.J. Male 2 0 12 0 (2 Wides)

3. D. Retter 2 0 9 1 (1 Wide)

4. M. James 2 0 22 1 (3 Wides)
5.S. Oliver 2 0 13 0 (2 Wides)

6. M. Ginno 2 0 5 0

7.P. Ash 2 0 13 0

8. A. Smith 2 0 10 2 (1 Wide)

9. K. Male 1 0 16 0

10. M. Bonning 1 0 9 0

Innings of Seavington St. Michael

Batsman How Out Bowler Score
1.S. Oliver Caught A. Gillard 0
2. M. Ginno Run Out 8
3. M. James Bowled C. Bird 1
4.P. Ash Bowled S. Madge 52
5. M. Bonning Caught M. Tolman A. Gillard 8
6.S. Gillard Caught M. Tolman A. Bird 14
7.D. Retter Not Out

8.S. Ash Not Out 2
9. A. Smith

10. K. Male

11.J. Male

Extras (3 Leg Byes, 12 Wides) 15
Total 105 for 6 wickets (18 overs)

Fall of Wickets
0-1(S. Oliver), 1 -2 (M. James), 52 — 3 (M. Ginno), 63 —4 (M. Bonning), 91 -5 (P. Ash), 103 -6 (S. Gillard)

Bowling Analysis

Bowler Overs Maidens Runs Wickets

A. Gillard 2 0 10 2 (1 Wide)
C. Bird 2 0 12 1 (3 Wides)
M. Harrison 2 0 10 0 (6 Wides)
A. Payne 2 0 9 0

M. George 2 0 16 0 (2 Wides)
B. Edwards 1 0 20 0

S. Madge 2 0 6 1

A. Bird 2 0 4 1

E. Gillard 2 0 9 0

C. Male 1 0 6 0

Seavington St. Mary won by 12 runs.



